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= = R HVE B R HVE Tl = = DV = AN ==
Rl ma BTV e | B R | e | o e | B e | T e | T | BB e | & | e
1 100kN/m%#%%| 1.00]000 ~ 192 129.53 |3mZi#BZ 5 -~ - - -| 100kN/i%#8%% | 1.00 [10.81 ~ 17.66 129.53 [3mZi#BZ 5 -~ - - -
Thilst 1.00]192 ~ 970 100.00 | Zxist | 000 ~ 9.70 | 2.51 13.43 Thilst 1.00 | 500 ~ 10.81 100.00 | Zhlist | 5.00 ~ 17.66 | 2.51 13.43
2 100kN/mM##BZ% - -~ - -|3m%Z#E=x25| 000 ~ 048 | 3.54 18.96 | 100kN/mM%#BZ 5 - -~ - -|3m%#25|10.00 ~ 16.52 | 3.54 18.96
Zhn st 1.00] 000 ~ 496 61.77 | Znlist 1048 ~ 496 ] 3.00 16.05 Zh st 1.00 | 500 ~ 16.52 61.77 | Zxnullst | 5.00 ~ 10.00 [ 3.00 16.05
3 100kN/m#%#8x%| 1.00|000 ~ 284 144.89 |3mZi#BZ 5 -~ - - —| 100kN/m%#%% | 1.00]1084 ~ 23.86 144.89 |3mZi#BZ 5 -~ - - -
Thilst 1.00 | 284 ~ 10.62 100.00 | #xist | 000 ~ 1062 | 2.87 15.35 Zhilst 1.00| 500 ~ 10.84 100.00 | ZhList | 500 ~ 23.86 | 2.87 15.35
4 100kN/mM##B % % - -~ - -|3m#FBZ5 -~ - - —| 100kN/ Mm%z % - -~ - —-|3m#EFBZ5 -~ - - -
Zhn st 1.00] 000 ~ 7.62 9756 | Fnlist | 000 ~ 7.62 | 2.11 11.31 Zh st 1.00 | 500 ~ 10.21 9756 | #nllst | 5.00 ~ 1021 | 2.11 11.31
5 100kN/m#%#8x%| 1.00|000 ~ 198 130.62 |3mZi#BZ 5 -~ - - —| 100kN/m%#2% | 1.00 1143 ~ 23.02 130.62 [3mZi#BZ 5 -~ - - -
Thilst 100198 ~ 977 100.00 | #Hist | 000 ~ 977 | 2.48 13.29 Zhilst 1.00| 500 ~ 1143 100.00 | #hlist | 500 ~ 23.02 | 2.48 13.29
6 100kN/mM##BZ % 1.00] 000 ~ 0.61 109.10 |3m%F#BZ % -~ - - -] 100kN/miZ#8x5| 1.00 [11.99 ~ 1454 109.10 |3m%*#BZ % -~ - - -
Zhn st 1.00] 061 ~ 840 100.00 | Z1List | 000 ~ 840 1.97 10.52 Zh st 1.00 | 500 ~ 11.99 100.00 | ZhList | 500 ~ 1454 | 1.97 10.52
7 100kN/mM#%#BZ % - -~ - -|3m%E#BEZ2 -~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
Thilst 1.00] 000 ~ 491 61.14 | #hLis | 000 ~ 000 1.68 9.01 Zhilst 1.00| 500 ~ 520 61.14 | Thils | 500 ~ 520] 1.68 9.01
8 100kN/m%E#BZ % - - ~ - -|3m%ziBZ D -~ - - -| 100kN/ i Z#BZ % - -~ - -|3m%i#BZ % -~ - - -
Zh st - -~ - -| R st -~ - - - Zh st - -~ - - £h st -~ - - -
9 100kN/m##BZ % - -~ - -|3m%EiEZS -~ - - -| 100kN/ %8z % - -~ - -|3m%EiEZ S -~ - - -
ZThilst - - ~ - -| =hiist - ~ - - - Zh st - - ~ - - Ehiist -~ - - -
10 100kN/m%E#BZ % - - ~ - -|3m%ziBZ D -~ - - -| 100kN/ i Z#BZ % - -~ - -|3m%i#BZ % -~ - - -
Zh st 1.00] 000 ~ 463 57.71 | #nllst [ 000 ~ 463 | 1.97 10.57 Zh st 1.00| 500 ~ 540 57.71 | Znllst | 500 ~ 540 1.97 10.57
11 100kN/mi#%#%%| 1.00]000 ~ 3.03 148.18 |3m%i#B% 5| 000 ~ 0.04 | 3.02 16.18 | 100kN/mi%#8x% | 1.00 |10.54 ~ 27.43 148.18 |3m%i#B%5(25.00 ~ 27.43 | 3.02 16.18
ZHn Lot 1.00 | 3.03 ~ 10.81 100.00 | Z1List | 0.04 ~ 10.81] 3.00 16.05 s 1.00 | 5.00 ~ 10.54 100.00 | ZhList | 500 ~ 25.00 | 3.00 16.05
12 100kN/mM##B % % 1.00] 000 ~ 271 142.76 |3m%x{BZ % -~ - - -| 100kN/mi%#8 x5 | 1.00 [11.01 ~ 31.07 142.76 |3m#F{BZ % -~ - - -
Zh st 1.00] 271 ~ 10.50 100.00 | #1Li4t | 000 ~ 1050 | 2.96 15.83 st 1.00 | 500 ~ 11.01 100.00 | ZhList | 500 ~ 31.07 | 2.96 15.83
13 100kN/mM%#EZ % 1.00 | 0.00 ~ 2.76 14351 |3m%Ei#BZ % -~ - - -| 100kN/mi%&# x5 | 1.00 [10.98 ~ 31.50 14351 |3m%ZBZA% -~ - - -
ZHn Lot 1.00] 276 ~ 10.54 100.00 | £ ist | 0.00 ~ 1054 | 2.96 15.86 s 1.00 | 5.00 ~ 10.98 100.00 | 1 ist | 500 ~ 31.50 | 2.96 15.86
14 100kN/m%#%%| 1.00]000 ~ 235 136.63 |3mZi#BZ 5 -~ - - —| 100kN/i%#8%% | 1.00 [11.48 ~ 29.61 136.63 [3mZi#BZ 5 -~ - - -
ZH Lt 1.00] 235 ~ 10.13 100.00 | Z1List | 0.00 ~ 10.13] 2.79 14.93 ZH Lt 1.00 | 500 ~ 1148 100.00 | ZhList | 500 ~ 29.61 | 2.79 14.93
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh Lot ~ Zh LS ~

DiE
..H.\
A



